Physical Science Worksheet: Chapters 19-23
Multiple Choice

1.
All planets in the solar system revolve around

A) the sun.   B) Earth.   C) Jupiter.   D) Mars.

2.
Tides on Earth are caused primarily by

A) the moon’s gravitational force.   B) the sun’s gravitational force.   C) Earth’s landscape.   D) Jupiter’s gravitational force.

3.
Venus is known for its

A) enormous size.   B) thick atmosphere.   C) ring system.   D) abundance of life.

4.
_____ is the only planet in the solar system known to sustain life.

A) Uranus   B) Mercury   C) Earth   D) Pluto

5.
Olympus Mons, a volcano on _____, is the largest volcano in the solar system.

A) Venus   B) the moon   C) Earth   D) Mars

6.
The asteroid belt exists between Mars and

A) Saturn.   B) Earth.   C) Jupiter.   D) Uranus.

7.
All five outer planets are

A) terrestrial planets.   B) gas giants.   C) very small.   D) far away from the sun.

8.
Ptolemy proposed that the sun, moon, and planets orbited Earth in

A) ellipses.   B) squares.   C) spheres.   D) circles.

9.
The solar system is approximately _____ years old.

A) 6000   B) 280 million   C) 4.6 billion   D) 15 billion

10.
Astronomers believe _____ was originally a part of Earth.

A) the sun   B) the moon   C) Jupiter   D) Mars

11.
A light-year is a unit of

A) time.   B) distance.   C) mass.   D) density.

12.
Spiral galaxies often appear bluish due to an abundance of

A) old stars.   B) black holes.   C) young stars.   D) white dwarfs.

13.
Elliptical galaxies often appear reddish due to an abundance of

A) old stars.   B) black holes.   C) young stars.   D) white dwarfs.

14.
Clusters of galaxies can form larger groups called

A) supernovas.   B) superclusters.   C) constellations.   D) supergiants.

15.
The sun is

A) an unusually hot star.   B) a very cool star.   C) a typical star.   D) None of the above

16.
In stars, energy is produced primarily as hydrogen atoms are combined to form

A) helium atoms.   B) carbon atoms.   C) oxygen atoms.   D) nitrogen atoms.

17.
The varying theories of the universe’s eventual fate all depend on the universe’s current

A) rate of expansion.   B) mass.   C) volume.   D) energy.

18.
The continental crust is deepest beneath

A) oceans.   B) mountains.   C) valleys.   D) rivers.

19.
Oceanic crust is

A) thicker and less dense than continental crust.   B) thinner and less dense than continental crust.   C) thicker and more dense than continental crust.   D) thinner and more dense than continental crust.

20.
Earth’s inner core is

A) hot and solid.   B) hot and liquid.   C) cool and solid.   D) cool and liquid.

21.
A divergent boundary occurs where two plates

A) move toward each other.   B) move away from each other.   C) move past each other.   D) move over each other.

22.
The reversal of Earth’s magnetic poles, as indicated by the rock on the ocean floor, occurs on average every

A) 100 000 years.   B) 200 000 years.   C) 300 000 years   D) 400 000 years

23.
The breakage of rocks along a fault line releases energy in the form of

A) P waves.   B) seismic waves.   C) heat.   D) light.

24.
Which of the following is not a characteristic of S waves?

A) travel slower than P waves.   B) cannot be detected in locations more than 105° from an earthquake’s epicenter.   C) travel through solids and liquids.   D) only affect coastal regions.

25.
Waves that cause the most damage during an earthquake are

A) surface waves.   B) P waves.   C) S waves.   D) ocean waves.

26.
Which of the following is not a rock?

A) granite   B) shale   C) marble   D) diamond

27.
Which of the following is not a rock type?

A) igneous   B) sedimentary   C) cubic   D) metamorphic

28.
Sedimentary rocks are the only rocks that can potentially contain

A) fossils.   B) minerals.   C) fractures.   D) faults.

29.
Igneous rocks that have mineral crystals easily seen with the unaided eye formed

A) extrusively.   B) intrusively.   C) under water.   D) through compaction.

30.
Rocks that are changed by heat and pressure will form

A) sedimentary rocks.   B) metamorphic rocks.   C) igneous rocks.   D) magma.

31.
Weathering that does not alter the chemical composition of the rock is called

A) chemical weathering.   B) physical weathering.   C) biological weathering.   D) acid weathering.

32.
Almost all weather occurs in the

A) troposphere.   B) stratosphere.   C) mesosphere.   D) thermosphere.

33.
Of all the atmospheric layers, the troposphere has the

A) highest temperatures.   B) lowest temperatures.   C) highest density.   D) lowest density.

34.
As distance from Earth’s surface increases, the temperature of the stratosphere

A) decreases.   B) increases.   C) remains the same.   D) None of the above

35.
Oxygen was introduced into the atmosphere as a byproduct of

A) respiration.   B) photosynthesis.   C) dehydration.   D) osmosis.

36.
A waste product of respiration in animals that is used by plants to carry out photosynthesis is

A) carbon dioxide.   B) carbon monoxide.   C) calcium carbonate.   D) sodium bicarbonate.

37.
Ozone molecules are destroyed by

A) carbon dioxide molecules.   B) chlorofluorocarbons.   C) deoxyribonucleic acids.   D) ultraviolet radiation.

38.
In the last 100 years, which of the following have added excess carbon dioxide to the atmosphere?

A) power plants   B) machinery   C) cars   D) All of the above

39.
On Earth, water exists as

A) a solid.   B) a liquid.   C) a gas.   D) All of the above

40.
With the input of solar energy, water changes from a liquid to a gas during the process of

A) condensation.   B) precipitation.   C) evaporation.   D) neutralization.

41.
Warm, moist air will have

A) high humidity and low dew point.   B) low humidity and high dew point.   C) high humidity and high dew point.   D) low humidity and low dew point.

42.
In a high-pressure system,

A) air molecules are far apart and pressing on Earth’s surface.   B) air molecules are far apart and rising away from Earth’s surface.   C) air molecules are close together and pressing on Earth’s surface.   D) air molecules are close together and rising away from Earth’s surface.

43.
Due to the Coriolis effect, winds in the Northern Hemisphere

A) curve to the north.   B) curve clockwise.   C) curve to the south.   D) curve counterclockwise.

44.
Warm air rises because of its

A) low density.   B) high density.   C) lack of density.   D) lack of pressure.

45.
The general geographic location of a large low-pressure system is

A) the North Pole.   B) the South Pole.   C) the tropics.   D) 30 degrees latitude.

46.
The leading edge of a cold air mass that overtakes a region formerly occupied by a warm air mass is called a

A) warm front.   B) cold front.   C) stationary front.   D) occluded front.

47.
As the electrical energy of lightning is discharged into the air,

A) the air cools and condenses rapidly.   B) the air heats and condenses rapidly.   C) the air cools and expands rapidly.   D) the air heats and expands rapidly.

48.
The energy that powers a hurricane is derived from

A) a stationary front.   B) condensation of water vapor.   C) funnel clouds.   D) sublimation of water.

49.
Groups of plants and animals that are adapted to similar conditions form a(n)

A) population.   B) ecosystem.   C) community.   D) organism.

50.
An ecosystem is balanced when

A) energy does not enter or leave the ecosystem.   B) there are an equal number of plants and animals.   C) there is plenty of rain.   D) there are enough resources for every living thing.
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